‘ BB £ 3E3H12 ERER B
O—F1>220>—b
J74)L%& | kal2.java £ & %

import java. io. *;
import java.util. Scanner;
public class Kal2 {
public static void main(String[] args) throws IOException {
int[] sban = {0, 201, 102, 203, 304, 305, 106 } ;
String[] smei={"","[L&DME", "AWE 7, "HIE", " HIEOWE, B0, TIERDZE}
Sakuhin[] sh = new Sakuhin[7];
for(int i=1;i<=6;i++) {
shli] = new Sakuhin(smeili]);
}
BufferedReader fileln=new BufferedReader (new FileReader ("kal2.csv”));
String line;
while((line = fileln. readLine()) != null) {
Stringl] str=line.split(”,”);
int ban = Integer. parselnt (str[0]) ;
int cod = Integer. parselnt (str[1]);
int ten = Integer. parselnt (str[2]);
int n = IIIIIIII;
while(sban[n] != ban ) {
n=n+1 ;
}

. syukei (cod, ten) ;
}

fileln. close();
Scanner sc = new Scanner (System. in) ;
System. out. print ("fEiE S A AT LT ZEVN=)
int sakuBan = sc.nextInt();
while (sakuBan != 0) {
int n = 1;
while([® b 1

n=n+1;

1
sh[n].‘()
System. out. print "1EE A2 AT LT ZIWV=7);
sakuBan = sc. nextInt();

}

sc. close() ;

>

public class Sakuhin {
public String smei;
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public Stringl:] hmei — {////’ /"5":\‘5:‘/( :///’ //Tir‘(i //’ //zEEIJ‘I\QE //’ //Eaé //’ ///{\*7‘ :/X” } ;
public int[] hkei = new int[6];

public int maxTen;
public String maxMei;

public Sakuhin(String smei) {

this. smei = smei;

}

public void syukei(int cod, int ten) {

®

hkei[0] = hkeil[0] + ten;

}

public void output ()

{

System. out. println(smei) ;

for(int s = 1; ;osH) |

float wari = (float) K)

System. out. printf (” %4s %3d  %4. 1f¥n”, hmeils], hkeil[s], wari);
if (hkeils] > maxTen ) {

®

maxMei = hmeil[s];

}
System. out. printf(
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AR & PG Y- 4s %3d¥n”, , maxTen) ;



